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1. (a) Explain the various conditions of Consumer equilibrium. (5)
- Ab) Derive QEﬂg-cI--.-éurve._from Income c0nsuniption curve. &)

(0 Calculate Pérbssf'E-lés-ticity of demand between Reliance Jio and Other mobile
Internet Operator

Operator Before After

| Pr}cej‘{/ | Quantity . Price Quantity
~ (inRs) | (Inlakhs) | (Inlakhs)| (in lakhs)

Lo 40

Other Operator | 299 - | 40 | 209 |71
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Reliance Jio 290 ik 50 40

‘OtherOperator | 209 |40 | 200 = |1




2165 3

OR
(a) State -exceptiqns- and‘fproper_t_,i‘es_ of Indifference curve (S-)
(b) Define consumer surplus. Explain hicks coneptﬂfconsumer suplus. - (5)

(cy Suresh spends his entlre income of Rs. 6000 on two commod1t1es X and Y.
The price of X is Rs. 20 ancl the price of Y ig Rs 10 per unit. If he has

attained the equilibrium level at this point on this budget line, show the
result. (5)
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4,

(cy How can you derive the long run average cost from short run average cost
_curve under traditional cost theory. (7.5)

(d¥ -Hiov’i‘z,_'-gllo.,é‘rs;r"a‘;p'rddut:er choose an optimal output combination to maximize
output to a given cost? (7.5)

() m&amﬁm%mmm&%mw%ﬁ%%m
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(a) How -dq@e'-i;;___{-zjﬁfe-siendé to monopoly lead to deadweight loss as compared to
competitive conditions. (7.5)

(b) Explain the concept of allocative efficiency (7.5)
(=) uﬁwufﬁ@rﬁrﬁ o % TR Y Sufafy fve wew T B AR 2
(@) SEeT gern ot srmuwon gweg

OR

(c) Explain -t'he long run and short run equilibrium of perfect}y-lcumpetiti-ve market.
(7.5)

(d) Explain the welfare effect of Excise tax on competitive market. {7.5)
(1) 9 T ¥ whierf TR 9 aeEats IR Nefafirr dga ot = =)

() el AR ) Sere W W w9 e @R

(@ Explain how excess capacity arises in monopolistic competition. Is this
necessary undesirable. : (7.5)

(b) Explain the absence of supply curve under monopoly with the help of relevant
diagram. (7.5)
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OR

(c) What do you mean by third degree of price, dlscnmmatlon? Whe:n gt o
profitable for a monopolist to discriminate? How will he allocate his output
in two markets and charge different prices? R T - (7 5) .

4

(d) If the mon-:)pollstlc firms are in short run equilibrium;; Wi -l:‘ thc comp"' i
industry asa whole will hemwethbnum in:the: long '
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5. (a) Whydo price ngldltles arise in an oligopolistic market
‘with the help of kmked demand curve model -

(b) For a same product if elastxcuy of demand wcrc_;not’da
market. The monopolist would not have. succ__,.:‘.,;___ ed-‘
[Hustrate it. i
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(c) Expla ffhe pnsoners dilemmna? How does it help to explain that cartel is
unstable (7.5)

(600)
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Question No. 1 is compulsory. Attempt any four
questions out of Question Nos.2to 7.
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l. Attempt any five parts: | (5X3)

(1) Classify the following statements into positive and normative statements. Also give
reasons for you classification.

(a) The government should emphasise more on poverty reduction than on economic
growth. |

(b) The binding minimum wage law will lead to excess supply in the labour market.
(ii) Suppose Neha purchases 4 kg. Sugar every month when the price of sugar is Rs.
30/kg. How much sugar will she purchase in a month if the price of sugar rises to Rs.

40/kg, assuming that for Neha price elasticity of demand for sugar is one?

(iii) Why are the average and marginal revenue curves of a firm horizontal in a perfectly
competitive market? _ ‘ |

- (iv) Why does a monopoly’s price exceed the marginal cost at the profit maximizing level
of output?
(v) Why can’t two indifference curves intersect each other?

(vi) What is derived demand? Give an example to explain it. P.T
K
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2. (i) Show and explain the possible effects on the equilibrium price and quantity of
cotton cloth, if the people are influenced by the news that ‘the cotton cloth reduces the
risk of skin cancer and allergies.” Simultaneously a bumper cotton crop has reduced
the cotton price which is an important input for cotton cloth. _ (6)

(ii) A price ceiling is imposed in the market for bicycles. What would be the effect on the
quantity bought and sold if the ceiling price is (a) above the equilibrium price and (b)
below the equilibrium price? Explain. ' (5)

(iii) Suresh buys a new mobile handset for Rs.4000 and gets a consumer surplus of Rs.
2000. (a) If the price of this handset were Rs.5500, what would his consumer surplus
have been? (b) What is the maximum price he would have been willing to pay?

(4)
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3. (i) Using the midpoint method calculate the cross price elasticity of demand between
oranges.and wheat if the following information is given: ‘

| Price of Oranges(Rs. per kg.) Quantity of Wheat (Kg.)
[ 30 100
Lz 40 120
L3 50 ‘ 140
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Are oranges and wheat substitutes or complements? Give reasons. : (5)
(i) Why do people face trade-offs? Explain using examples. EY)

(iii) What is the deadweight weight loss of taxation? How does the deadweight loss
change with the change in the size of the tax? Give reasons in support of your answer.

. | (6)
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(i) Surbhi is awake for 80 hours a week. She earns Rs. 100 for every hour that she |
works. Explain the effect of an increase in the wage rate to Rs. 120 per hour on the
number of hours worked using income and substitution effects. @)

~ (ii) State, giving reasons, whether the following statements are true or false. (a) All

Giffen goods are inferior goods. (b) All inferior goods are Giffen goods. 4)

(ii1) What will be the shape of an indifference curve between two goods when the
goods are (a) Perfect substitutes; (b) Perfect complements Explain the reasons for

- these shapes. 4y
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.. (i) Differentiate between economic profit and accounting profit. Which one may be

higher and why? Calculate economic and accounting profit of a firm if total revenue
of this firm is Rs. 5,00,000 and all its costs being paid are Rs. 3,00,000. Firm is saving
Rs. 50,000 by not hiring a manager as the owner is herself looking after this job. (7)

(ii) How is the short run supply curve of (a) competitive firm and (b) the competitive
market, derived? Explain. Can this curve be downward sloping?Give reasons. (8)

3
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iii.

mf@imamﬁwémﬂmﬁéﬁmmaﬁﬁmlﬁﬁﬁwﬁﬁmwmm§;ﬁ;
FI? P B P RIS T ofr @ § PIfNY A% S AT 5,00,000 I TRT EH 3
T AN B9 3,00,000 %w&aﬂwﬁmmwmﬁﬁmﬁrﬁmmﬁmﬁsoooamk B
g Bl 2 |

ZRe] BN B e 7 (a) f gfarh w4 qon (b) f s aor @ 91 a5 few
gk TSl fhT O & | 91 d 95 HOTSTE BTl 9Tl 81 9ad & | SR |

. (i) A benevolent social planner wants to maximize total surplus. Can this be achieved

at the profit maximizing output level of (a) a monopoly firm charging a uniform price
(b) a monopoly firm practicing perfect price discrimination? Explain . €:)

(ii) Explain and show why the long run market supply curve under perfect
competition may (a) slope upward or (b) be horizontal._ (7)
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. (i) Show how the migration of workers from country A to country B will affect the

labour supply, labour demand and the equilibrium wage of country A. (5
(i) Derive the demand curve of labour for a firm in a perfectly competitive labour
market (the commodity market is also perfectly competitive) using thc value of
marginal product of labour curve. : (6)

(iii) A firm produces three different kinds of commodities (A, B&C). The firm
conducted a survey to explore the possibilities to increase the prices of these
commodities so that it can increase its revenue. Thc result of the survey is as follows:

Commodities Commodities

A |B |C |. ' A |B: |C

Pre_scnt price (Rs.) 50 |20 |32 | Presentdemand (units) 800 | 1400 | 1250

Expected Price (Rs.) |60 |28 | 40 Expected demand (units) | 700 | 1000 | 950

Using mid-point method find the price elasticities of demand for goods A,B and C.
For which commadity rise in price may increase the revenue of the firm. C))
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(Write your Roll No. on the top immediatefy on receipt (;f this question paper.)
| Part A
All questions must be answered. (BXiO¥30)

- (a) Discuss the role of literature in the formation of society.
Or

(b)) What are the functions of media in any soéiety ?

(@) Multilingualism is an asset in India. Discuss.
Or

(b)) Does it help a student to be bilingual in India ? |

(4) What do you understand by language variation ?
Or

. (b)) Language supports male domination in any particular society. Do you agree ?

BTG



S S ';
Part B
Attempt any rh.ree questions. (3x15=45)
1. How does the Eklavya episode bring out the discriminatory practice of ancient time§ ‘
2. Faiz Ahmad Faiz’s poem “Do Not Ask” makes a departure from t_raditional love pos
Comr‘nent.. | |
- 3. Discuss the significance of the 'ﬁtle J-oothan,
4. - Discuss the theme of Ghalib’s poem ‘Desires Come b}: the Thdusands".

5.° Subramania Bharati’s poetry serves the nationalist cause. Do you agree ? Give a rea'sc

answer.
6.  Discuss how Raag Darbari depicts degeneration of social vaiues.

7. Comment on the title of Amrita Pritam’s poem “To Waris Shah”.

/

1972 2 | 1.
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’ Note :  Answers may be written either in Eﬁglish or in Hindi; but the same medium should be

used throughout the paper.
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Attempt any four questions.
All questions carry equal marks.
f - fl W we @ s
' wft wodl & oiw W ¥
. The Indus Valley Civilization declined due to environmental factors. Do you agree ?
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Discuss the human-wildlife interaction during the Mughal rule with special reference to either

Lion or Cheetah.
mmaﬁm%wﬁﬁmwﬁnﬂa—waﬁ:ﬁﬁaﬁw
HINT |

India’s environmental history during the British period is a reflection of colonial sentiment Discuss.

ﬁm—mﬁwmmmaﬂvﬁéﬁmmm@uﬁm
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Are big dams an appropriate form of water-management policy or do they raise more human-

environrnental problems ?

wa@ﬁ%ﬁﬁﬁnﬁ@fsﬁmaﬂ mwmﬁmqam%mﬁmﬁm L piEryie
el H g9fg st w ¥ 2

The impact of Green Revolution in India was both a blessing and a bane. Do you agree ?

Wﬁgﬁ?aﬁmumwmﬁﬂaﬁmﬂﬁmmiwmw
ad 9 HeHd € 2

The Bhopal Gas Tragedy should be understood not only for its environmental but also for

its social impact. Discuss.

Wﬁaﬁmﬁ@awmmwﬁqmmmumﬁ%m
THIA STEG ® 1 e St
What is Global Waﬁning ? How has it impacted the world ?
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.‘ Wnte short notes on any two of the following e ‘
:(a) Gandhi and Environment
| (b) ‘Sacred Groves
| (¢) Narmada Bachao Andolan
I_ (d) Greenhouse Gas.
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Instructions for Candidates

b

2
¥
4

Write your Roll No. on the top immediately on receipt of this question paper.
Attempt any four questions.
All questions carry equal marks.

Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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Write an account of the Harappan sites in Delhi.
feeell ¥ weom weper & Ui Tt o Faor fofw |
" OR

Is it possible to establish a relationship between archeology and myth in the study
of Ancient history in Delhi ?

1 ool & Wi sfoem & seaae W e SR e & @ s e fohar S
AR B 7

-

How are ancient remains of Delhi understood by its people in present times ?
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3.

Discuss how the changing imperial vision of the Mughals is reflected in the
development of the waterfront garden.

et g e e e Te-ai (aeR -t W) @ smumen ¥ 9 wRRRe
Bt 2 7 = iR

Despite declining fortunes, the later Mughal rulers attempted to maintain their
imperial court culture. Explain.

ﬁ@m%wmwmﬁ%mmmmﬁmaﬁ
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OR

Ghalib’s life was a witness to the changes happening in 19 century Delhi. Discuss.

T T Sl Iiadl adt B qaied F Reh ¥ gv wRadT @ @t ar | w9

How was the Revolt of 1857 memorialised in Delhi ?

et o 1857 o1 faRlE & wiRaewor W ==t R |

What was the impact of Partition on the life of citizens of Delhij ?

fasarorT w1 el & Sia W @ wome wer ?

Write a note on the relationship of citizens and monuments in our city of Delhi.
I el MR & ARAT 3R SR & 9 gEe W v ool o |

Short notes :

- Hftrg e

(1) Locating Indraprastha
T @ @
(i) Mehrauli Iron pillar
HEdiel e
(ii1) Ghalib
T
(iv) Delhi Prize
fewdt =t 1@ (1857)
(3000)
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(Wite your Roll No. on the top immediasely on receipt of this question paper.) -
Attempt all questions. All questions carry equal marks.

SECTIONA

} Highlight the basic components of a news story. Briefly discuss each.
| o o
Highlight the principles of clear writing by Robert Gunning giving suitable examples.

SecTiON B

Are there any standardized news formats that newsijapers adhere to? Discuss the differen:
news formats with special reference to the inverted pyramid style. -

Or : :
- Of the millions of events which occur every day in the world, only a tiny proportion eve:
become visible as “potential news stories”. Examine criteria for newsworthiness in the
light of the statement. "

Section C
Differentiate traditional journalism from online journalism. Has online media displaced
' the traditional media? Discuss your answer.
' - Or o
Critically evaluate the Indian newspapers over the last decade in context of sensationalism.

SecTioN D

" Discuss the relationship between press and democracy in contemporary India with suitable
examples. | :
_ Or
Do you think that the freedom of the press is misused in India? How would you visualize
democracy in India in the absence of a free press? Comment.

SEcTION E

Elucidate the importance and functions of headlines in newspapers. Discuss various
patterns of headlines with suitable examples.

P.T.O.
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Sr. No. of Question Paper
Unique Paper Code
Name of the Paper
Name of the Course
Semester

Duration : 3 Hours

: 225% GC-3 Your Roll No....ccccvaenanne
: 32355101
: GE —1 Calculus
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L |

Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on the receipt of this question paper.

2. Do any five questions from each of the three sections.

3. Each question is for five marks.

SECTION I

1. Use € — 8 definition to show that

lim(3x-7)=2.

x—3

2. Find the equations of the asymptotes for the curve

x} +
f(x) =231

3. Find the Linearization of

4, Forf(x)=x*-3x+3

f(x)=sinx at x=m.

(i) Identify where the extrema of ‘f” occur.
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10.

(i) Find where the graph is concave up and where it is concave down.

Use L’Hépital’s rule to find

; I-sinx
i =
=12 ] +cos2x

The region bounded by the curve y = x2 + | and the line y = —x + 3 js revolved
about the x-axis to generate a solid. Find the volume of the solid.

Find the length of the astroid

X=cost, y=sint, 0<t< 27.

SECTION II

State Limit comparison test, Using the limit comparison test, discuss the
convergence of

T dx
!l-f-xz.

Identify the symmetries of the curve and then sketch the graph of

r = sin 20.

Solve the initial value problem for T as a vector function of t

2 =
Differential equation - e =32k

dt?
Initial Conditions  : 7(0) =100k

dr 2 4
and . E_ =81+8_]
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I'L.

12.

13:

14.

15:

16.

Find the curvature for the helix

?(t)=(acost)§ + (asint)}' +btk, a,b>0 a>+b’> =0

Write the acceleration vector a =a,T + ayN at the given value of t

without finding T and N for the position vector given by

T(t) = (tcost)i + (tsint)j + t’k, t=0

2xy
; 203 3 # 0,0
Show that f(X, Y) = X2 +y° (X y) ( )

0, (xy)=(0,0)

is continuous at every point except at the origin.

If £(x,y) = K—YEFJ;Z\/;

(i) Find the domain of the given function f(x,y).

(ii) Evaluate (x,I;)H(r:},a) f(x,y)-

SECTION III

Ifz=5tan'x and x =e* + Inv,

oz oz
find = and = using chain rule, whenu=1n2, v=1.

Find the directions in which the given function f increase and decrease most
rapidly at the given point p,. Then, find the derivative of the function in those
directions.

f(x, y,z) == ~;——yz, Po (4,1,1)

R EO:
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17.

18.

19,

20.

21.

Find parametric equations for the line tangent to the curve of intersection of the
given surfaces at the given point.

Surfaces:x+y2+2z=4, x =1

Point : (1, 1, 1).

Find equations for the
(a) Tangent plane and

(b) Normal line at the point p, on the given surface

z? — 2x* — 2y — 12 = 0; p,(1,-1,4).

Find the absolute maxima and minima of the function f(x, y) = x2 + y? on the
closed triangular plate bounded by the lines x = 0, y = 0, y + 2x = 2 in the first
quadrant.

of & o o’f
If f(X,Y)zxcosy+ye , find é;z-,gy—ax—gyy and é;a
If f(x,y) = x —y and g(x,y) = 3y

Show that
0] V(fg) =gVf+fVg

£J_gi—ng

g Z

o fe)-e2

(4500)
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3. Discuss Ambedkar’s views on Hindu Code Bill and its importance for the liberation of
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5. ‘Caste is the biggest impediment in the nation building’. Discuss in the light of
Ambedkar’s views of Indian Nationalism.
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6. Discuss Ambedkar’s views on land rights and labor rights in India.
IH ARTPR T 579 ARBRI W . FIsHR D AR @) = B

7. Discuss debates on representation in the context of Ambedkar’ evidence before South
borough Committee.

gfafHfee = 9eY IR Afift & wHe <F, srsaR @ ufaded & | § RfE
famet &Y uedre i |
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i 9 T @ w3t fewef fiReg ¢

a. Poona-pact.

LGILEE

~ b. Social democracy.

AHINTS Al
c. Caste as ideology.
S U faaRERT
d. Revolution and counter —revolution.
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